REREMZOER (KR - E1R) ERE
(B#H : 2021 E7B 7H)

R—=, AT AR 1E

p.70, 0.12 F1OEE H2DES

p.108, £.8 3DODIRITLHER {a,b,c} ZFD 3DODIRITHER {a}, {b}, {c} FD
p.108, JIE 1 2 ODTEHER {*, ¢} 2ODTHER (+} ¥ {c}

p.156, B 2 REE (2 ) fiiee (2 f)

BIRRAIEOER (WEFEE - EI3IRUME) ERK
(F#H 2021 FE7B 7H)

R=Y, AT Ak ik

p.70, £.12 H1o%ES B2 DHEE

p.108, £.8 3DODWILHESR {a,b,c} ZHD 3ODWITHER {a}, {b}, {c} ZFHD
p.108, ML 1 2 DOIRTEHS {*, ¢} 2ODWTEES {+} & {c}

p.156, fHITE 2 WREE (2 f&FT) fitieE (2 f&FT)

B ARAFORRE (WHSBE - F2R) ERK

(B : 2021 FE 78 7H)

R—Y, AT Ak 1E
p.70, £.12 B1o%ES B2 DES
p.86, £.3 HLTr,f =0 HLTM ETT, =0
p.108, £.8 3ODIRITLER {a,b,c} ZFFD 3ODIRTCER {a}, {b}, {c} ZFD
p.108, i 1 2 ODIRITTHER {*,c} 2ODIRITTHER {+} & {c}
p.156, 7 2 haE (2 &) fitag (2 &P
p.193, £.10 9o(X,Y) > gy () (15X, 7:Y) 9o(X, X) > gy(p) (12X, 7. X)
(pes, XY € X(S)) (peS, X e X(S))
p.196, £.2 JREES SN =S =dN
p.196, £.3 JRA S5 %N FRIIZRAK




BEEmARRAFORR WHSE - F1R) ERK

(#2021 FE 78 7AH)

=, AT E 1E

p.19, ¢4 (2%, 22) = (r,0) (2%, 22) > (r,0)

p.19, £.-3 (p3q 3,p75q79) (= 3q %,p 5q %)

p.70, £.12 F1OEE H2DES

p.86, £.3 LTt =0 HLTM ETr, =0

p.104, £.7 Pytagoras Pythagoras

p.108, £.8 3DODIRITLHESR {a,b,c} ZHD 3ODIITTHER {a}, {b}, {c} ZFD

p.108, fiIE 1 2 ODIRTTHER {*,c} 2ODIRTTHER {+} & {c}

p.156, BITE 2 s (2 &) firas (2 &)

p.193, £.10 9p(X,Y) 2 gy(p) (12X, 1Y) 9p(X, X) 2 gy(p) (15X, 72 X)
(pes, XY € X(3)) (pes8, X e X(S))

p.196, £.2 R ESSON RSN

p.196, .3 JAANE S5 2N FRIEEK

p.218 Pytagoras Pythagoras

p.223 Pytagoras Pythagoras




